# AREA L.E.G.S. MINUTES – APRIL 19, 2020

#### Show your gratitude for N.A. be a part of the decision-making process.

K

Nominations/Elections are needed for the following: positions at the ASC meeting: Secretary, Treasurer Assistant, RCM, RCM Alternate, H&I Chair, H&I Vice-Chair, Merchandise Chair, Merchandise Vice-Chair.

Interim Positions: Secretary Assistant, Policy Vice-Chair and Public Relations Vice-Chair.

Nominations/ Elections are needed for the following BRSCNA Regional positions: Chair, Vice-Chair, Assistant Secretary, Assistant Treasurer, RD Alternate, Activities Chair and Literature Chair Service begins in June.

### AREA L.E.G.S. INFORMATION

Donations can be mailed to: AREA L.E.G.S. P.O. BOX 5674 Cleveland, Ohio 44101 AREA L.E.G.S. MINUTES Available online at: <u>www.legsna.org</u> ONLINE MEETINGS LISTED ON OUR WEBSITE: \*\**if you have problems* during the call-in, additional information is available for your convenience\*\*

**BACK TO GROUPS/MOTION:** – Page 5 OTHER MOTION [Pages 6, (7 – 8), and 9].

MONEY OWED TO AREA L.E.G.S./GROUPS: Adrianne W. Phillip A. Saffiyyah A.H. Kevin G.

#### **Executive Committee Contacts:**

ASC Chair: Jimi M. 216-882-0588 ASC Vice-Chair: Walt Mc. <u>216-990-1919/waltsalley@yahoo.com</u> ASC Secretary: Ruby K. <u>216-240-0926/msrubyk@gmail.com</u> ASC Secretary Assistant: Regional Committee Member: Regional Committee Member Alternate:

#### Subcommittee Contacts:

ACTIVITIES	HOSPITALS & INSTITUTIONS
Jacqueline J. 216-906-1481/Carl W. 216-326-1888	LaShonda M. 216-254-2177/LaVonne B.216-450-9286
LITERATURE	MERCHANDISE
Tracy S. 216-240-7538/Thurman B.216-258-1928	Reggie K. 216-972-4558/Kim G. 216-322-7841
POLICY	PUBLIC RELATIONS
Beverly M. 216-785-4179	Gerald P. 216-302-9239

Page 1

- 1. MEETING OPENED WITH A MOMENT OF SILENCE FOLLOWED BY THE SERENITY PRAYER.
- 2. TWELVE TRADITIONS READ BY: WALT MC.
- 3. TWELVE CONCEPTS READ BY: <u>Ruby K.</u>
- 4. NINTH TRADITION EXPLANATIONS READ BY: JIMI M.
- 5. THREE MINUTE APPLICATION OF THE ELEVENTH STEP.
- 6. GUIDELINES READ QUARTERLY.
- 7. FIRST POLLING of the GSR's <u>10.</u>
- **8.** Are there any Groups with issues, concerns, or who would like to be recognized for New Business?
- 9. SECRETARY'S REPORT: RUBY K.

Motion to accept report Ali A. Seconded by Ron B.

For <u>10</u> Against <u>0</u> Abstentions <u>0</u> Report <u>Passed</u>

**10. TREASURER'S REPORT: WALT MC. [ASC VICE-CHAIR] - INFORMAL** 

Motion to accept report Ken D. Seconded by Will R.

For <u>9</u> Against <u>0</u> Abstentions <u>1</u> Report <u>Passed</u> Amount reported <u>\$4,605.07</u>

11. HOSPITALS & INSTITUTIONS SUBCOMMITTEE: LASHONDA M./VON B.

Motion to accept report by Ken D. Seconded by Ron B.

For  $\underline{11}$  Against  $\underline{0}$  Abstentions  $\underline{0}$  Report <u>Passed</u> - Informational presentation

#### **12.** POLICY SUBCOMMITTEE: BEVERLY M.

Motion to accept report by \_\_\_\_\_. Seconded by \_\_\_\_\_.

For <u>0</u> Against <u>0</u> Abstentions <u>0</u> Report <u>NOT MOTIONED</u> - Informational presentation

#### 13. MERCHANDISE SUBCOMMITTEE: REGGIE K./KIM G.

Motion to accept report by Darlene P. Seconded by Ali A.

For <u>11</u> Against <u>0</u> Abstentions <u>0</u> Report <u>Passed</u>

Funds sent to the ASC P.O. Box <u>\$315.00</u>

#### 14. PUBLIC RELATIONS SUBCOMMITTEE: GERALD P.

Motion to accept report by Will R. Seconded by Ron B.

For <u>11</u> Against <u>0</u> Abstentions <u>0</u> Report **Informational presentation** 

#### 15. ACTIVITIES SUBCOMMITTEE: JACQUELINE J./CARL W.

Motion to accept report by <u>Rochelle D.L.</u> Seconded by <u>Ali A.</u>

For <u>11</u> Against <u>0</u> Abstentions <u>0</u> Report <u>Passed.</u> Informational presentation

#### **16.** LITERATURE SUBCOMMITTEE: TRACY S./THURMAN B.

Motion to accept report by Darlene P. Seconded by Ali A.

For <u>11</u> Against <u>0</u> Abstentions <u>1</u> Report <u>Passed</u>

Total Sales =  $\frac{$275.35}{10}$  no budget request Funds sent to the ASC P.O. Box  $\frac{$275.35}{10}$ 

- 17. RCM: INFORMAL OCNA 38 has been cancelled for May 2020 and the Ohio Region will host it in May 2021 at the same location; any refund request is on the flyer included in this month's ASC Minutes, the CAR motions are due by the second Saturday in June and the question was presented if we wanted to have an OCNA Zoom Convention next month during the scheduled OCNA weekend.
- **18.** TEN MINUTE BREAK <u>NO</u>
- **19. REOPEN MEETING:** Moment of silence followed by the Serenity Prayer.
- **20. SECOND POLLING** of the GSR's <u>12.</u>

#### **21. OLD BUSINESS:**

- A. Gina H.W. was nominated and stated willingness for Treasurer. CONGRATULATIONS GINA.
- B. BACK TO GROUPS motion (March 2020 Page 5) Vote Results: <u>2</u> For <u>1</u> Against <u>6</u>
  Abstentions and sent back to the group "Wake Up and Live" for more clarification such as cost of this kind of bond, what's needed to secure this type of bond, even though it covers the funds do we still have to press charges first? (NOTE: These were the things as Secretary I noted.)

#### 22. New Business/Group Concerns:

- A. Secretary informed voting body of the Activities Vice-Chair of unwarranted absence not recorded in in last month's ASC Minutes.
- B. Ali A. had questions pertaining to the motion being sent back to "Wake Up & Live; wanted to know if their GSR knew what needed to be clarified. See Old Business "BACK TO GROUPS motion" above.
- C. There's A Way Out made a motion BACK TO GROUPS pertaining to the "Men In Black -Speaker Jam" see page 5 of these Minutes.
- D. William R. made a motion to make a donation to the World during this pandemic.
- E. Ron B. made a motion to cancel all Area LEGS activity events until September 2020.
- F. Tony E. made note with the passing of motion to cancel activities until September 2020 by

the ASC that all scheduled events (at least 2 Marathon meetings, Pretty in Pink, NA Birthday Celebration and Learning Day).

- G. Richard S. asked if the Area would consider having conference call meeting Speaker Jams on a regular basis and it was suggested to support the Activities Subcommittee conference line meetings.
- H. Charles B. wanted to know who to contact to make corrections to "Just For Today" access code number (ASC Secretary would make sure it was taken care of asked what it was says he's call. Please note at this printing it has been dealt with).
- I. Active Treasurer wanted to inform the members at this online meeting that the ASC is accepting donations via Area LEGS P.O. Box 5674, Cleveland, OH. 44101.
- 23. UNWARRANTED ABSENCES: Carl W. Activities Vice Chair 1 unwarranted from ASC meeting in March. Warranted Absences: Von B. Immediate Emergency and Thurman B. Work
- 24. MEETING BUSINESS ENDED AT: 6:14pm

#### 25. MEETING CLOSED WITH A MOMENT OF SILENCE FOLLOWED BY THE SERENITY PRAYER.

\*\* Although freeconferencecall.com is a FREE service a donation of \$15.00 was donated as a contribution [by a member] for our 701-802-5120 – 525595#
WE ARE FULLY SELF-SUPPORTING.

#### IN SERVICE TO NA,

#### RUBY K.

#### ASC SECRETARY

#### "ALL REPORTS SUBMITTED AND APPROVED FLIERS INCLUDED."

# **BACK TO GROUPS**

### **GROUP/SUBCOMMITTEE MOTION WITH EXPLANATION:**

There's a Way Out request that AREA LEGS consider putting the Men in Black Speaker Jam Via phone line.

Explanation: AREA LEGS already had it in place.

**SUBMITTED BY:** Humbly Submitted: William R. G.S.R.

DATE: <u>April 19, 2020</u>

BUSINESS OR POLICY VOTED POLICY AND SENT BACK TO GROUPS

**VOTE ON MOTION:** 

FOR: <u>8</u> AGAINST: <u>4</u> ABSTENTIONS: <u>0</u> RESULTS: <u>PASSED</u>

LAKE ERIE GENERAL SERVICES®

### **MADE ON THE ASC FLOOR WITH EXPLANATION:**

Motion to request that AREA LEGS send money to World Service Office.

Explanation: World is in Dyer need of donations.

Humbly Submitted By:

William R. G.S.R.

Motion 2nd by Richard S.

Date: April 19, 2020

### **BUSINESS** or **POLICY - MAJORITY VOTE: BUSINESS**

### FOR: <u>8</u> AGAINST: <u>2</u> ABSTENTIONS: <u>2</u> RESULTS: <u>PASSED</u>

 $[dire]_{\, rhk}$ 

Page 6

### LAKE ERIE GENERAL SERVICES®

### MADE ON THE ASC FLOOR WITH EXPLANATION MOTION:

That Area LEGS sends \$250.00 to the World Service Office.

### **EXPLANATION:**

7th Tradition

Motion by <u>Beverly M.</u>

2<sup>nd</sup> by <u>William R.</u>

Date: April 19, 2020

### **BUSINESS or POLICY: MAJORITY VOTE: BUSINESS**

### **VOTE ON MOTION:**

7 For <u>0</u> Against <u>4</u> Abstentions RI

**RESULTS: <u>PASSED</u>** 

### MADE ON THE ASC FLOOR WITH EXPLANATION MOTION:

**LAKE ERIE GENERAL SERVICES**® MOTION WITH EXPLANATION: P/SUBCOMMITTEE mation; Mitten That aren LEGS pendo #25000 World Service Office to t Epplanation. 74 Tradition BACK TO GROUPS \_\_\_\_ SUBCOMMITTEE: \_\_\_\_ MOTION BY: Sevely M Pality Chair 2ND BY: Will R CSR FOR: \_\_\_\_\_\_AGAINST: \_\_\_\_\_\_ABSTENTIONS: \_\_\_\_\_ RESULTS: \_\_\_\_ AREA SERVICE COMMITTEE VOTE TALLY: FOR: \_\_\_\_\_AGAINST: \_\_\_\_\_ABSTENTIONS: \_\_\_\_\_RESULTS: \_\_\_\_

LAKE ERIE GENERAL SERVICES®

### MADE ON THE ASC FLOOR WITH EXPLANATION MOTION:

### Motion:

To have area legs cancel all area legs physical activities at least until September 2020.

Explanation: Contingent on the possibility, which is now fact, that we should not meet face to face. Also, we are now hosting our meetings virtually on the phone lines.

Motion by Ron B.

2nd by Richard S.

**DATE:** <u>April 19, 2020</u>

### **BUSINESS** or **POLICY - MAJORITY VOTE: BUSINESS**

**VOTE ON THE MOTION:** 

FOR: <u>8</u> AGAINST: <u>2</u> ABSTENTIONS: <u>2</u> FINAL RESULTS: <u>PASSED</u>

# AREA {L.E.G.S.} LAKE ERIE GENERAL SERVICES®

NAME of GROUP	NAME of REPRESENTATIVE	1st TALLY	NEW BUS.	2nd TALLY
AGAINST ALL ODDS				
A SIMPLE WAY				
BEDFORD MIRACLES				
EAST CLEVELAND RECOVERY				
END OF THE ROAD RECOVERY				
FIRST STEP 2 RECOVERY				
FRONTLINE RECOVERY				
H.O.W. ON SATURDAY NIGHT				
HAPPY JOYOUS & FREE	Darlene P.	Х		Х
INNER CITY RECOVERY				
JUST FOR TODAY	Charles B.	Х		Х
KEEP COMING BACK				
KEEP IT SIMPLE N.A.				
LAST HOUSE ON THE BLOCK				
MESSAGE OF HOPE PROMISE OF FREEDOM				
MORE WILL BE REVEALED ON SUNDAY	Safiyyah A. C.	Х		X
NEW ATTITUDES		T		
NO MATTER WHAT				
OUR PRIMARY PURPOSE ON SATURDAY				
PEACE IN THE VALLEY	Ali A.	Х	х	Х
PURE N.A. GROUP	Deb W.	Х		Х
RAY OF HOPE GROUP				
RECOVERY BY THE RAPID				
RECOVERY ON 105				
SERENITY ON SUNDAY MORNING	Richard S.	Х	х	Х
SPIRITUAL AWAKENINGS				
SPIRITUAL FOUNDATION				
ST. CLAIR RECOVERY	Rochelle D. L.	Х		Х
STEP GUIDE DISCUSSION GROUP OF NA	Dee-Dee C./Shinelle W.	Х		Х
THANK GOD I'M FREE	Tony E.	1	х	Х
THE JOURNEY CONTINUES	,			
THERE'S A WAY OUT	William R.	X	х	х
TOGETHER WE CAN		1		
WAKE UP & LIVE	Ken D.			
WE ARE REACHING NEW HEIGHTS				
WE ON MONDAY MORNINGS		1		
WINNERS GROWING TOGETHER IN RECOVERY	Ron B.	x	х	x
WITH OUR WILLINGNESS	Marvin M.	X		X
April 19, 2020		11		12
·····		+		

AREA {L.E.G.S.} LAK	KE ERIE GENERAL SERVICES	
COMMITTEE MEMBERS SERVICE	COMMITTEE REPRESENTATIVE NAME	NEW BUS.
AREA CHAIRPERSON	Jimi M.	
AREA VICE-CHAIRPERSON	Walt Mc.	
AREA SECRETARY	Ruby K.	
AREA ASSISTANT SECRETARY		
AREA TREASURER		Х
AREA TREASURER ASSISTANT		
ACTIVITIES CHAIRPERSON	Jacqueline J.	
ACTIVITIES VICE-CHAIRPERSON	Carl W.	
HOSPITALS & INSTITUTIONS CHAIRPERSON	LaShonda M.	
HOSPITALS & INSTITUTIONS VICE-CHAIRPERSON		
LITERATURE CHAIRPERSON	Tracy S.	
LITERATURE VICE-CHAIRPERSON		
MERCHANDISE CHAIRPERSON	Reggie K.	
MERCHANDISE VICE-CHAIRPERSON	Kim G.	
POLICY CHAIRPERSON	Beverly M.	
POLICY VICE-CHAIRPERSON		
PR/PHONELINE CHAIRPERSON	Gerald P.	Х
PR/PHONELINE VICE-CHAIRPERSON		
REGIONAL COMMITTEE MEMBER		
REGIONAL COMMITTEE MEMBER ALTERNATE		
CONVENTION CHAIRPERSON		
CONVENTION VICE-CHAIRPERSON		
AD-HOC CHAIRPERSON		
AD-HOC VICE-CHAIRPERSON		
ASC ADVISORY MEMBER REPRESENTATIVE		
INDIVIDUAL MEMBE	RS PLEASE PRINT NAME BELOW	
Earlene B.		
Gina W. H.		
1		



.

LAKE ERIE GENERAL SERVICES OF NARCOTICS ANONYMOUS INC PO BOX 5674 CLEVELAND OH 44101-0674

**Business Statement** Account Number:

> Statement Period: Mar 2, 2020 through Mar 31, 2020

(CONTINUED)

Page 2 of 3

#### INFORMATION YOU SHOULD KNOW

Addition of Partner ATMs section .

- Removed the following content and will be distributed upon individual product purchase
  - o Safe Deposit Box Agreement
  - o Consumer Reserve Line Agreement
  - o Business Reserve Line Agreement

Starting May 11, you may pick up a copy at your local branch, view on usbank.com, or call 800.USBANKS (872.2657) to request a copy. If you have any questions, our bankers are available to help at your local branch. You can also call us at U.S. Bank 24-Hour Banking at 800.USBANKS (872.2657). We accept relay calls.

SILVER BUSINESS	CHECKING	<b>3</b> { ( #	të di.		Accou	Men nt Number	ber FDIC
Account Summary	242462552555				Лесоц		212 212
Beginning Balance on Mar Customer Deposits Other Withdrawals Checks Paid	# Items 2 3 2 4	\$	5,520.60 1,134.46 15.00- 493.39-				
Ending Balance on	Mar 31, 2020	\$	6.146.67				
Customer Deposits							
Number Date Mar 18 Mar 18	Ref Number 8654115294 8654115285		Amount 258.46 432.40	Number	Date Ref Number Mar 18 8654115272		<i>Amount</i> 443.60
				Total (	Sustomer Deposits	\$	1,134.46
Other Withdrawals							1,104.40
Date Description of Tran Mar 13 Analysis Service C Mar 18 Proof Correction D	harge				Ref Number 1400000000 8654115308	\$	Amount 5.00- 10.00-
				Total	Other Withdrawals	\$	15.00-
Checks Presented Con Check Date 000012835 Mar 23 6817* Mar 16	ventionally Ref Number 8056131843 8056937835	All and a second	Amount 281.04 8.99	Check 6820* 6828*	Date Ref Number Mar 2 8053964146 Mar 16 8055893358		Amount 175.00 28.36
* Gap in check sequenc	e			Conventior	al Checks Paid (4)	\$	493.39-
Mar 2 Mar 13	ding Balance 5,345.60 5,340.60	Date Mar 16 Mar 18		Ending Balance 5,303.25 6,427.71	Date Mar 23	Ending Balance 6,146.67	
Balances only appear fo		The second se					
ANALYSIS SERVIC Account Analysis Activity for	E CHARGE		f in the last	a da santa		ditter a second	
	Account Nu	mber:				s	5.00
	Analysis Se	vice Charge a	ssessed to			s	5.00
	Servi	ce Activity D	etail for Ad	count Number	ec.e		
Service				olume	Avg Unit Price	Tot	al Charge
Depository Services Combined Transaction Paper Statement Fee	ns/Items			44 1	5.00000		o Charge 5.00

<b>FREAS</b>	URY REPORT		MARCH 3, 2	020 TO MAR	CH 31, 202
NATE:	MONTHLY STATEME				
DATE	TRANSACTIONS	CHECK #	INCOME	EXPENSE	BALANCE
	FROM BANK STATEMENT				5,520.6
	DEPSOIT		432.40		5,953.0
03/18/20	DEPOSIT		258.46		6,211.4
03/18/20	DEPOSIT		443.60		6,655.0
	CHECKS PAID				
	Thea Bowman (Feb. Rent)	6820		175.00	6,480.0
3/16/20	Fred C. (Coffee)	6817		8.99	
	Walt Mc (Treasurer Budget)	6828		28.36	6,442.7
3/23/20	Compass Storage (April and May Rent)	6825		281.04	6,161.6
	Service Fee			5.00	6,156.6
	Proof Correction (See Deposit above \$258.46)			10.00	6,146.6
	correct deposit amount is (\$248.46)				
*****	OUTSTANDING CHECKS				
1/19/20	B.R.S.C.N.A. (Schedule Books)	6808		105.00	6,041.6
1/19/20	B.R.S.C.N.A. (Donation)	6812	1	150.00	and the second se
3/15/20	Thea Bowman (Mar. Rent)	6821		165.00	5,726.6
3/15/20	NAWS (Literature)	6823		902.00	4,824.6
3/15/20	BRSCNA (Schedule Books)	6824		49.00	4,775.6
3/15/20	Thea Bowman (Apr. Rent)	6830		170.00	4,605.6
	FREE WILL DO	VATION	S and DE	BTS	
	FREE WILL DONATIONS				2,978.70
	ACTUAL AMOUNT IN ACCO	UNT			4,605.6

REAS	URY REPORT	Ι	MARCH 3, 20	20 TO MAR	CH 31, 202
	MONTHLY STATEMENT	FOR MAR	RCH 2020		
DATE		CHECK #	INCOME	EXPENSE	BALANCE
	ACTIVITIES BREAKDOWN				5,520.6
3/15/20	More Will Be Revealed	1588	25.00		5,545.6
	Happy Joyous and Free	1587	50.00		5,595.0
	St Clair Recovery		60.00		5,655.0
	How On Saturday Night		50.00		5,705.0
-	New Attitudes		70.00		5,775.0
	Step Guide Discussion		100.00		5,875.0
	Keep Coming Back		60.00		5,935.
	Literature		708.86		6,644.4
					-
	CHECKS PAID				
3/2/20	Thea Bowman (Feb. Rent)	6820		175.00	6,469.4
5/10/20	Fred C. (Coffee)	6817		8.99	6,460.
	Walt Mc (Treasurer Budget)	6828		28.36	6,432.
5/23/20 Con	Compass Storage (April and May Rent)	6825		281.04	6,151.
	Service Fee			5.00	6,146.
	Proof Correction (See Deposit above \$258.46)				
	OUTSTANDING CHECKS	(900			
	B.R.S.C.N.A. (Schedule Books)	6808		105.00	6,041.0
/19/20	B.R.S.C.N.A. (Donation)	6812		150.00	5,891.
/15/20	Thea Bowman (Mar. Rent)	6821		165.00	5,726.
	NAWS (Literature)	6823 6824		902.00	4,824.
	BRSCNA (Schedule Books)	6830		49.00	4,775.0
/15/20	Thea Bowman (Apr. Rent)	0650		170.00	4,605.
	unable to find the \$.60 difference between the two balances!				
	ACTUAL AMOUNT IN ACCOUNT	VT			4,605.0

### **SUBCOMMITTEE REPORT**

### **ACTIVITIES SUBCOMMITTEE**

ARIL 19, 2020

WE DISCUSSED WHETHER OR NOT TO CANCEL THE NA BIRTHDAY CELEBRATION. BEVERLY M. WILL CONTACT THE PARK TO SEE IF WE CAN GET OUR DEPOSIT BACK. THE MEN IN BLACK SPEAKER JAM HAS BEEN POSTPONED, WE TALKED ABOUT HAVING A VIRTUAL MEN IN BLACK SPEAKER JAM...THERE WAS A MOTION FROM A GROUP REGARDING THAT...SO THAT WILL GO BACK TO THE GROUPS. THE DEPOSIT FROM THE MEN IN BLACK SPEAKER JAM HAS BEEN TRANSFERRED TO THE LEARNING DAY THAT IS SET TO TAKE PLACE IN AUGUST. WE SPOKE ABOUT HAVING THE MEN IN BLACK AND THE PRETTY IN PINK SPEAKER JAMS COMBINED TOGETHER. EVERY ACTIVITY THAT WAS PLANNED HAS BEEN POSTPONED, THE GSR'S VOTED TO CANCEL ALL ACTIVITIES UNTIL SEPTEMBER. WE PLAN ON CONTACTING MT. CARMEL TO SEE IF WE CAN GET THE DEPOSIT BACK FOR THE PRETTY IN PINK SPEAKER JAM. THE MAY 31<sup>ST</sup> MARATHON MEETING HAS BEEN CANCELLED.

GRATEFUL TO SERVE, ACTIVITIES SUBCOMMITTEE

### SUBCOMMITTEE REPORT

### SUBCOMMITTEE NAME: Literature 4/19/20

Hello Family

As everyone know there has not been any meeting going on this month.

We have not sold much of our inventory and our new order is on its way.

We hope that this virus does not stop

The sale of the literature that we have on hand. But we are here to serve the need of our area to the best of our ability. Remember to all group are

Here to serve.

We are turning in \$ 275.35 for this month, and we are not asking for our budget this month, until we need it possibly next month.

### THANK YOU FOR ALLOWING US TO SERVE!!

Tracie S (Chair) (216) 240-7538

Thurman B (vice chair) (216) 258-1928

### LAKE ERIE GENERAL SERVICE (LEGS)

LITERATURE INVENTORY

Date Mar/Apr

								Cash
		Beginning	NAWS	Monthly	Ending	Unit	Cash	Amount
	Informational Pamphlet	balance	order	sales	balance	Price		Sold
1	Who, What, How & Why	120			120	0.27	32.4	0
2	The Group	79			79	0.36	28.44	0
5	Another Look	155	50	0	205	0.27	55.35	0
6	Recovery & Relapse	106	50	0	202	0.27	54.54	0
7	Am I An Addict?	169		10	159	0.27	42.93	2.7
8	Just For Today	191	50	0	241	0.27	65.07	0
9	Living The Program	87	50	0	137	0.27	36.99	0
11	Sponsorship	122			122	0.27	32.94	0
12	Triangle of Self-Obsession	204		10	194	0.27	52.38	2.7
13	BY YOUNG ADDICT	348			348	0.36	125.28	0
14	One Addict's Experience	55	50	0	105	0.27	28.35	0
15	PI And The NA Member	52			52	0.27	14.04	0
16	For the Newcomer	143			143	0.27	38.61	0
17	For Those In Treatment	80			80	0.36	28.8	0
19	Self-Acceptance	130		10	120	0.27	32.4	2.7
20	H & I and the NA Member	51	50	0	101	0.27	27.27	0
21	The Loner - Staying Clean	93			93	0.36	33.48	0
22	Welcome to Narcotics Anonymous	197		10	187	0.27	50.49	2.7
23	Staying Clean on the Outside	216	50	0	266	0.27	71.82	0
24	Hey! What's the Basket For?				0	0.61	0	0
24	Money Matters		32		32	0.61	19.52	0
25	Self-Support	14			14	0.61	8.54	0
26	Accessibility	70			70	0.27	18.9	0
27	Parents/Guardians young people	25			25	0.36	9	0
28	Funding NA Services	53			53	0.4	21.2	0
29	An Intro to NA Meetings	156			156	0.27	42.12	0
							0	
	Booklets/Handbooks				0		0	
	PR Handbook	11			11	11	121	0
	Hospitals & Institutions w/Audio Tape	0			0	11	0	0
	A Guide to Local Service in NA	8	5	0	13	1.85	24.05	0
	Convention Guidelines	0			0	4	0	0
	Literature Committee	0			0	3.1	0	0
	Group Treasurer's Book	8	5	0	13	2.45	31.85	0
	An Introductory Guide to NA	77			77	2.3	177.1	0
	Twelve Concepts for NA Service	71	1		71	2.25	159.75	0
	NA White Booklet, Newly Revised	195	0		195	1.1	214.5	0
	The Group Booklet	59			59	1.1	64.9	0

	SCHEDUL		110			AREA	275.35
	I				СНЕ	CKS TO	
				0	50	5,734.71	
Gift Edition Basic Text	0			0	30	19	(
Miracles Happen Gift Edition Just For Today	0 / 1			0	33.5 19	0 19	(
Book Cover	7	-		7	15 22 F	105	(
Special Order Items	0			0	45	0	(
Sponsorship Book	8			7	9.25	64.75	(
Guiding Principles	8		0	13	12.25	159.25	(
Living Clean	23		3	23	10.75	247.25	32.25
The NA Step Working Guid	de 16		5	15	10	150	50
Just For Today - Daily Med	litation 28	5	3	30	10	300	3(
It Works - How & Why	11	5	3	13	10	130	3
NA Basic Text	32	-	4	49	13.35	654.15	53.
NA Meeting Schedules	137			137	0.3	41.1	(
				0	10.5	0	
Medallion Holder Serenity Prayer Talking Ke	v Chain 0			0	9 10.5	0	
JFT Journal	0	-		0	15.25	0	
Basic Text - Book Cover	7	_		7	5.25	36.75	
Set of Group Readings	2		0	7	7.3	51.1	
Other Items Special Order	rs					0	
						0	
·						0	
treasure pad	6			6	0.9	5.4	
Triple-plated	1	-		1	26.85	26.85	
Bi-plated	26		<u>ک</u>	26	17.6	457.6	/.
Bronze	61	25	2	84	3.6	0 302.4	7
Multiple Years Medallions	110	45	0	155	0.6	93	
Eighteen Months	137			137	0.6	82.2	
One Year	149		10	139	0.6	83.4	
Nine Months	198			198	0.6	118.8	
Six Months	111			111	0.6	66.6	
Ninety Days	74		0	124	0.6	74.4	
Sixty Days	112		Ū	112	0.6	67.2	
Thirty Days	131	-	0	192	0.6	115.2	
Key Tags Welcome	92	1 00	0	192	0.6	0 115.2	
Na A Resource	0			0	0.45	0	
Social Media & Principles	60			60	0.36	21.6	
NA Groups & Meds	0			0	0.36	0	
Disruptive Behavior	80			80	0.27	21.6	
In Times of Illness	92			92	3.6	331.2	
Behind the Walls	48		15	33	1.1	36.3	16.

#### \*\*\*\*\* Invoice \*\*\*\*\*



Narcotics Anonymous World Services, Inc. 19737 Nordhoff Place Chatsworth CA 91311-6601 USA Federal ID No. 95-3090596 t+1/818.773.9999 e customer\_service@na.org

#### Invoice To: LAKE ERIE GENERAL SERV TRACY SHEELEY 3697 GLENCAIRN

Invoice number Invoice date Sales order number Customer number Service Rep Payment terms Shipped via: Tracking number

#### Shipped To:

TRACY SHEELEY 3697 GENCAIRN CT SHAKER HEIGHTS, OH 44122 USA

SHAKER HEIGHTS, OF	4 44122
USA	

Description	Shipped	Unit price	Amount
Basic Text Hardcover	21	12.15	255.15
It Works: How and Why Hardcover	5	9.55	47.75
Just for Today Daily Meditation Book	5	9.55	47.75
The NA Step Working Guides	5	9.00	45.00
Living Clean Hardcover	6	10.35	62.10
Guiding Principles Hardcover	5	11.65	58.25
IP #5 Another Look	50	0.23	11.50
IP #6 Recovery & Relapse	50	0.23	11.50
IP #8 Just for Today	50	0.23	11.50
IP #9 Living the Program	50	0.23	11.50
IP #14 One Addict's Experience	50	0.23	11.50
IP #20 H&I Service & NA Member	50	0.23	11.50
IP #23 Staying Clean on the Outside	50	0.23	11.50
Group Treasurer's Workbook	5	2.25	11.25
A Guide to Local Services in NA	5	7.50	37.50
Group Readings (7-Card Set)	5	4.90	24.50
Recovery Keytags(English,Welcome,White)	100	0.56	56.00
Recovery Keytags(English,30 days,Orange)	50	0.56	28.00

NAW-038629

Sylvia Cordero

Check payment

4/16/2020

041319

1029533

BestWay 391948140204

1

2



Narcotics Anonymous World Services, Inc. 19737 Nordhoff Place Chatsworth CA 91311-6601 USA Federal ID No. 95-3090596 t+1/818.773.9999 e customer\_service@na.org

#### Invoice To:

LAKE ERIE GENERAL SERV TRACY SHEELEY 3697 GLENCAIRN

SHAKER HEIGHTS, OH 44122 USA

Invoice number Invoice date Sales order number Customer number Service Rep Payment terms Shipped via: Tracking number

NAW-038629 4/16/2020 041319 1029533 Sylvia Cordero Check payment **BestWay** 391948140204

#### Shipped To:

TRACY SHEELEY 3697 GENCAIRN CT SHAKER HEIGHTS, OH 44122 USA

Description	 Shipped	Unit price	Amount
Recovery Keytags(English,90 days, Red)	50	0.56	28.00
Recovery Keytags(English, Multi-year, Black)	45	0.56	25.20
Bronze Medallions(English,2 years,Bronze)	2	3.40	6.80
Bronze Medallions(English,4 years,Bronze)	2	3.40	6.80
Bronze Medallions(English,5 years,Bronze)	2	3.40	6.80
Bronze Medallions(English,9 years,Bronze)	1	3.40	3.40
Bronze Medallions(English 14 years Bronze)	1	3.40	3.40
Bronze Medallions(English, 15 years, Bronze)	1	3.40	3.40
Bronze Medallions(English, 19 years, Bronze)	1	3.40	3.40
Bronze Medallions(English 20 years,Bronze)	1	3.40	3.40
Bronze Medallions(English,21 years,Bronze)	1	3.40	3.40
Bronze Medallions(English,22 years,Bronze)	1	3.40	3.40
Bronze Medallions(English,23 years,Bronze)	1	3.40	3.40
Bronze Medallions(English,24 years,Bronze)	1	3.40	3.40
Bronze Medallions(English,25 years,Bronze)	1	3.40	3.40
Bronze Medallions(English,27 years,Bronze)	1	3.40	3.40
Bronze Medallions(English,28 years,Bronze)	1	3.40	3.40
Bronze Medallions(English,29 years,Bronze)	1	3.40	3.40

SMALL UNDERPAYMENT: ADJUSTED SHIPPING FEES

	Net invoice	891.95
	Less Invoice discount	57.98
	Shipping & Handling	68.03
	Sales tax	0.00
	Invoice total (\$)	902.00
All prices and totals listed are in USD		

Payment per 4/16/2020 12:00:00 AM

Continued..



Narcotics Anonymous World Services, Inc. 19737 Nordhoff Place Chatsworth CA 91311-6601 USA Federal ID No. 95-3090596 t+1/818.773.9999 e customer\_service@na.org

Invoice To:

USA

LAKE ERIE GENERAL SERV TRACY SHEELEY 3697 GLENCAIRN

SHAKER HEIGHTS, OH 44122

Invoice number Invoice date Sales order number Customer number Service Rep Payment terms Shipped via: Tracking number NAW-038629 4/16/2020 041319 1029533 Sylvia Cordero Check payment BestWay 391948140204

#### Shipped To:

TRACY SHEELEY 3697 GENCAIRN CT SHAKER HEIGHTS, OH 44122 USA

Description	Shippe	d Unit price	Amount
Bronze Medallions(English,30 years,Bronze)		2 3.40	6.80
Bronze Medallions(English,33 years,Bronze)		2 3.40	6.80
Bronze Medallions(English,36 years,Bronze)		2 3.40	6.80

SMALL UNDERPAYMENT; ADJUSTED SHIPPING FEES

Net invoice	891.95
Less Invoice discount	57.98
Shipping & Handling	68.03
Sales tax	0.00
Invoice total (\$)	902.00

All prices and totals listed are in USD

Payment per 4/16/2020 12:00:00 AM

# SUBCOMMITTEE REPORT

### NAME: PUBLIC RELATIONS

As Requested by PR'S subcommittee, I composed correspondence to be sent to Facilities that maybe helped by Narcotics Anonymous AREA's LEGS Phone Line Meetings.

The Correspondence has been sent to Ruby K's Email to be sent to AREA LEGS Members so that Narcotics Anonymous Language is being used. After approval of said correspondence I will be coordinating with H & I's Chair to obtain Email Addresses to the proper Facilities.

May 2<sup>nd</sup> Poster Day has been cancelled

Submitted by Gerald P.

**Public Relations Chairperson** 

# $\bigcirc$

# **GROUP REPORT**

# NAME: <u>HAPPY JOYOUS and FREE</u>

Happy Joyous and Free has moved our meeting online. We continue to meet every Sunday at 7pm on Zoom. The meeting ID number is 8703604129. Password is "Recovery". We have been averaging about 20 people and will collect our 7th tradition by cashapp (\$HappyJoyousFreeNA) to cover the cost of our Zoom subscription and support our Area service structure. We are grateful to all addicts who participate in our efforts to keep the virtual doors open and carry the message.

Submitted by Darlene P.

# **GROUP REPORT**

# NAME: JUST FOR TODAY

We have begun telephone conference calls on Thursdays at 9pm. We continue to carry the message of recovery. We average about 15 members per week. All are invited to join us. Our telephone number is 1-978-990-5000, access code 332989#.

Submitted By: Charles B.

# **GROUP REPORT**

# NAME: PEACE IN THE VALLEY

We established call conference meetings about three weeks ago. We meet each Saturday at 12:30pm, at 978-990-5000, CODE 101863.

Our average attendance the last two weeks has been about 8 people.

Submitted By: <u>Ali A.</u>

# **GROUP REPORT**

# NAME: <u>PURE NA</u>

Pure NA still meeting but on a phone line we have great participation holding it down until we meet again.

Humbly

Submitted By: Debbie W.

# LAKE ERIE GENERAL SERVICES®

### **GROUP REPORT**

F. Clair Lecovery NAME:\_\_ onjunce OMMO a ANV A NN IMI. m tind n Submitted By: \_ rome group meme Date:

# **GROUP REPORT**

# NAME: STEP STUDY DISCUSSION

# Hello family,

The transition to phone line has been blessing — thank God we still able to have a meeting. We want to thank our Secretary Dee Dee for showing up and maintaining an atmosphere of recovery. Thank the addicts that call weekly to support our phone line meeting and share their experience, strength & hope; even the addicts that choose to listen.

Submitted By: <u>Trusted servant</u>, Shinelle W.

Date: <u>April 19, 2020</u>

# **GROUP REPORT**

# NAME: <u>T.G.I.F.</u>

Hello family, happy to report that in spite of what's going on, through phone conference, we're still carrying the message of recovery. Stay strong, much love. Grateful to serve.

Submitted By: Tony E., GSR

# **GROUP REPORT**

### NAME: WINNER'S GROWING TOGETHER IN RECOVERY

Currently, we have due to Social distancing closed our meeting. The facility let us know until further notice we would not be able to hold our meetings there. Therefore, our group conscious to resort to Free Conference call.com site to have teleconference meeting. The number and access code are as follow ...

Number: 978-990-5000

Code: 683309

We are presently still caring a clear-cut message of recovery. We in the last 3wks. have averaged 5 members per meeting. We open our meeting at 7pm every Sunday evening.

Submitted By: Ron B.

# **GROUP REPORT**

### NAME: WITH OUR WILLINGNESS

With Our Willingness would first like to thank all the addicts who have been joining us on the phoneline. We would like to also let everyone know that we will continue to have a phoneline meeting through May 3, 2020. We will revisit our face to face meeting on a regular basis and let everyone know when we will actually be back in our facility to meet. Our phoneline information is 1-602-610-2065 Access 972654. Please join us on Saturday's via phoneline until further notice. We would like to extend our love to the fellowship as we all navigate through these unprecedented times.

Grateful to Serve With Our Willingness

Submitted By: With Our Willingness